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BASHBIE LS RT L ~ H25.228 108.5 | 44,760,000 2.4240

BAREIEMASH ~  H25.228 108.5 | 43,500,000 2.4943

=X ey YN R o2 3 ~ H25228 106.0 | 44,400,000 2.3874

B#F TE®RASH ~ H25228 106.0 | 45,000,000 2.3556

MRt SR EIEMR ~ H25.2.28 102.0 iR -

BIE#A=4 ~ H25.228 106.5 IR —

ERTERASH ~ H25228 102.0 | 43,000,000 2.3721

ArRIAKA R ~ H25228 111.0 | 36,800,000 30163 || & #L 1E A FLIEAE AE =N

HEERKASH ~ H25.2.28 102.0 [ 77,000,000 1.3247

A= LOBER ~ H25.228 106.0 IR —

A= FHHER ~  H25228 106.0 | 46,360,000 2.2865

EEHIERASH ~ H25228 106.0 [ 35,150,000 3.0156

Astt R¥ER ~  H25.2.28 108.5 | 50,000,000 2.1700

A=t I\ ~ H25.228 106.5| 45,800,000 2.3253

HX L SKK ~ H25.2.28 102.0( 39,760,000 2.5654

B BEREEE ~ H25228 106.5| 39,550,000 2.6928

A b—a3—F3— ~ H25.228 106.0| 54,000,000 1.9630

A=t EIIBREE ~ H25228 106.0| 47,000,000 2.2553
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50 40 6.0

MBS BEIELI AT LA 100 25 2.0 40 108.5
BAREBHFEIEKRA S 100 2.5 20 40 108.5
=X Ay YN R - S 3 100 0.0 2.0 40 106.0
B#FIEHRA S 100 0.0 2.0 40 106.0
Bt TS 2REIEMR 100 0.0 0.0 2.0 102.0
BIxMA=t 100 25 0.0 4.0 106.5
ERTEMRA S 100 0.0 2.0 0.0 102.0
Arnfsst 100 5.0 20 4.0 111.0
HEERKAsH 100 0.0 0.0 20 102.0
M= LOER 100 0.0 2.0 4.0 106.0
MRt FIEs 100 0.0 2.0 40 106.0
BEHIERAS 100 0.0 20 40 106.0
M=t RHEs 100 2.5 2.0 40 108.5
A= A\ 100 25 0.0 4.0 106.5
A= SKK 100 0.0 0.0 20 102.0
MRt BERE 100 2.5 0.0 40 106.5
H_A st b—a3—F3— 100 0.0 2.0 4.0 106.0
MA=wt E)IBERAEE 100 0.0 2.0 40 106.0




